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1. 2dRs 2 olal e sl QAL dsldd AHdl. Ae sl 2L Al 14
Explain the difference between internal and external public debt. Discuss the effects of
public debt.
AHUWOR

AR e oysil e sdldl ool [Qane-l 2l s
Discuss Lerner’s and Buchanan’s controversy about public debt.

2. 7Y AU 24 dqasll sy Al el il 20lBls Radl x4 ulls
[asiul sl Alla sioudl 22l 5. 14

Give the meaning of automatic and discretionary fiscal policy. Discuss the role of fiscal
policy in economic stability and economic growth.

HUAW/OR
sl Al el saldl eurdld sddal deelal sifly Al Gea-l 2l
5.
State the instruments of fiscal policy and discuss the objectives of fiscal policy in the
context of the Indian Economy.

3. GRAHL 5w A AL 4L AUsnsly Aol [ 22l s 14
Discuss in detail the monetary relationship between the Center and States in India.
AYW/OR
alRdML 9edl ob el ALl 5132070l qaricts 2l s
Discuss comparatively, the working of last two Finance Commissions in India.

4. RAHL 3%, A 2 RAHS ARSRIAL 2Uasl wld wRudl v SRl vhas
WAl (Qord 2l s2U. 14
State the sources of income of Center, State and Local Governments in India and discuss
in detail the sources of income of Central Government.

2§9a/OR
sl aReL A1 vied g 2 s aReL A2 2ol 2 ARl etameil A2l

What is agriculture holding tax ? Discuss the recommendations of Raj Committee about
agriculture holding tax.
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5. AL g5 uad W2 v el wle 31 dHIFl Grradldl sl Al HeR (a, b, ¢ 2aal d)
quil 14
For each of the following questions, choose the best answer and write its number only in
your answer sheet :

(1) Bre vdausladl e sardl wmi-ud
(a) [sxud 52 . (b) [&aR4 52 .
(€) sl Hd Al 20wl (d)  Gu-ll 2isunl -,
In general the classical economist’s view about public debt is
(@ They favour it
(b) They oppose it
(c) They have not given any opinion about it
(d) None of the above
(2)  oLslerdl Hd Houoel A8 sl el
(a) [am-l Ul Guz waAsidl Al
(b)  [am-l Uudl Guz w9,
(€) fam-l Ul Guz 34l % vRAIY ©.
(d) Gu-l 2isuel Ale.
In the opinion of Buchanan, the burden of public debt is
(@ Not shifted on future generation
(b) Is shifted on future generation
(c) Only half of the burden is shifted on future generation
(d) None of the above
(3)  5RARL U MR BaAl 92 9 dslAd © ?
(@)  $ARAHL HDULAURILY, dT €9 BUIR SR UMD $DULAUBL, dwad €.
(b)  SRARML $RDULAURILY, dtd €9 FUIR &R ML HADULAURIL, dTad .
(€) 5 U ANER zal bid 53U SlY .
(d) Gu-l isuel Al
What is the difference between taxes and public debt ?
(@) Taxes are voluntary but public debt has an element of compulsion.
(b) Taxes have an element of compulsion but public debt is voluntary.
(c) Both taxes and public debt are compulsory.
(d) None of the above
(4) A& s dld weldaAmi vl sl M2 “s18[30L 2uG2” wuR Gell Wy 9 ddl
[su1aa sisl s30 ¢ ?

(a) wicud (b) AygA

(€) (e dauaflatizt d) 35

Public debt creates problem of crowding out for private sector in the economy was
opined by

(@) Malthus (b) Samuelson

(c) Classical economists (d) Keynes
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(5) As1RS ML 32512 alaal M2 A sl Ul [BHiad siel 30 ¢ 2

(a) [Maed [Fsun (b) ARYAAA
() o5l d) 35
Who has advocated fiscal policy for bringing changes in effective demand ?
(@ Milton Friedman (b) Samuelson
(c) Buchanan (d) Keynes
(6) 28R vd d 58 lldtl 25 HoL 9 ?
(@) -ususla lla (b) uwsivlla lla
() dwr -l (d)  Gu-ll (a) 21 (b) oid
Public debt is a part of policy.
(@ Monetary (b) Fiscal
(c) Trade (d) Both (a) and (b) above
(7) U145 2 Aufudl diou adagll M2 sl Hlldd v wH-
(a) 2UosE] A sid (b) vldzl
(€) UA5dRU (d) <d=ugl dzl
The best instrument of fiscal policy to achieve proper distribution of income and
wealth is
(@) Excise tax (b) Expenditure tax
(c) Income tax (d) Sales tax
(8) IRAML Ulls Adael $U1R Y SAML 21d 9 ?
(@) o2 vl (b) e1¥e uddi
(c) owge-dl d (d) Gu-l 2isuel Ale
In India, the economic survey is presented
(@) After the budget (b) Before the budget
(c) Along with budget (d) None of the above

(9) U2 AL AWAA UoelF]2iAl AeHHL dd uell anal sl qe-l
9L Sld dd g sea 9 ?
(8) Gledd?lu AUl (b) Al xA1gaL
(€) AU ML (d)  Gur-ll 2suel 8

When the resources allocated to the state are less in relation to the responsibilities
given to it, is called

(@ Vertical inequality (b)  Straight inequality
(c) Horizontal inequality (d) None of the above
(10) R4 s&UL w3RUA 2 AL ARl 2AAHUGAL G2 5L v GUIA €9

(8)  ALeA-DA-2US53 (b)  Ae{LSL

(c) 2Uds dRL (d) Gu-l 2isuel Al

The best solution to remove inequality between needs and resources of the State is
(@ Grants-in-aid (b) Subsidy

(¢) Income Tax (d) None of the above
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(11)

(12)

(13)

(14)
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sulL olaRelld YHIRL gl UMs @Rl e Hetd Uy, 9 ?
(8) 73 il 74 AL citnzelld YaiRel gll
(b) 74 - 75 AL elaRelld YHIRRI gl
(€) 73 2 75 - elaRelld JHIRel gl
(d) 74 2 76 U elriRelld ALl glRL

Under which Constitutional amendment the local bodies have been given
importance ?

(@) 73%and 74" Amendment  (b) 74" and 75" Amendment
(c) 73%and 75" Amendment  (d) 74" and 76™ Amendment
olrelAl 59 saM S0 Avguld ARliuAdl [Hugs 52 9 2

(a) 280 &5 (b) 282 &s

(c) 302 &sn (d) 293 &sn

Under which Article of Constitution, President appoints Finance Commission ?
(@) Article 280 (b) Article 282

(c) Article 302 (d) Article 293

ANER ALSALAL A5l Al 60 2 ?

(a) eyl s (b) il 2as

(€) &4 2uas (d) Gu-L ouL %
The profits from public sector undertakings come under

(@ Revenue receipts (b) Capital receipts
(c) Total receipts (d) None of the above

wiaMs v ved

(8) 54 a5 — 5 W

(b) egeil vite — cux-l ysagll

() Rwsivla viel — -l Ysazl

(d) weydl 2uas — e+l ysasl
Primary deficit is

(@) Total income — Total expenditure

(b) Budgetary deficit — Interest payments
(c) Fiscal deficit — Interest payments

(d) Revenue deficit — Interest Payments




